8.5

4+2v/3 _ 4+243

1)

NE) 3
3) 442v3 _ 4+2v3 _ 4+2v3 _ 2(2+V3) _ 24V3
sv4 52 10 10 5
5) 2-5v5 (\/13) _ 2/13-5V65 _ 2V13-5V65
4y13 \V13/ 413 o 52
) V2-3+3 (x/§) _ V6-3v9 _ V6-33 _ V6-9
V3 vi/ 3 3 3
0) 2p+34/5p* _ 2p+3ysp*  2p+3p*Vs  2p+3p3s (\/E) _ 2pVs+3p®Ves  2pVs+3p?5
5./20p2 522502 s2pVs 10pVs \W5/ 10p(5) B 50p -
2p\5+15p®  p(2V5+15p)  2V5+15p
50p N 50p T 50
11)
Vv3m?2-4v2m* _ vV3m2?2-4vV2m*  my3-4m?V2 _ my3-4m?V2 (\/§) _ my9-4m?J6
svizm*  5V2Z3m%*  2:5m2V3  1om2v3 \Vv3/ 1om23
3m-4m?V6 _ m(3-4mv6) _ 3-4mV6
3om2  30m2  30m
13) 5 (3«/§+2) _15V5-5v2 _ 15V5-5V2 _ 15v5-5v2
3v5+vZ \3v5+2/  95-2 45-2 43
15) 2 (5—«/5) _10-2v2 _ 10-2v2
54v2 \5—v2/  25-2 23
3 44343 1249vV3  12+49V3  12+9V3
17) = = =
4-3+/3 \4+3/3 16—9-3 16-27 -11
4 3—/5 12-44/5  12-44/5 4(3—/5
19) ( ) = = = ( ) =3 — \/E
3+v/5 \3-/5 9-5 4 4
21) -4 (4+4\/§) _ —16-16v2 _ —16-16v2 _ —16-16v2 _ —16(1+V2) _ L4+v3
4—4y2 \4+4v2)  16-162  16-32  -16  -16
5
23) =



4p 4p
25 =
) 3-5,/p* 3—5p?2

27) 4 4 (s—x«/E) _ 20—4xV5
5+V5x2  5+xvV5 \5-xv5/  25+5x2

29) 5 _ 5 (Z—r\/Sr) __10-57rvy5r _ 10-57V57
24V5r3 2475 \2—rV5r)  4—-r2(sr)  4—513

5 (—5v+3\/5) —25v4+15\v

31) “5v—3vp \-5v+3vw)  2502-9v

4243 (3\/5—\@) _ 12y/4-4V6+9vV2-3v3 _ 12:2-4V6+9V2-3V3 _ 24-4V6+9V2-3V3
3 3z \svava) T 9-2-3 N 18-3 B 15

2—/5 (—3—\/5) _ —6-2V5+3V5+V25 _ —6-2V5+43V5+45  —1+V/5
¥ 3G \GoE) T 9-5 B 4 T4

5v2+4/3 (5—5\/5) _ 25v2-25v4+5v/3-5v6 _ 25v2-25-245v3-5V6 _

5+5vV2 \5-5v2 25-25-2 25-50
25vV2-50+5vV3-5V6 _ 5(5V2-10+y3-V6) _ 5V2-10+V3-V6
-25 o -25 o -5

V3+/2 (2«/§+\/§) _ 2V9+V6+2V6+V4 _ 2:3+/64+2/6+2 _ 6+V6+2/6+2 _ 8+3vV6

39 =
) 2\/3-/2 4.3-2 12-2 10 10

2V3+/2

" V3-V2 (4—\/3) _ 4V3—V15-4v2+V10 _ 4V3-V15-4V2+V10
) v iR = 16-5 B 11

4+2vV2x2 _ 4+2xv2 (5-2xV5x) _ 20+8xV5x+10xvV2—4x2V/10x
43) 5+2v5x3  5+2xV5x (5—2x\/§) o 25—4x2(5x) -
20+8xV/5x+10xV2—4x2y/10x
25-20x3

45) (2v/3m2—-v2m?*) _ (2mV3-m?2./2) (5+m\/§) _ 10mv3+2m2v/9-5m2y2-m3+/6 _

5—V3m?2 5—mv3 5+my3 25—-3m?
10mv3+2m?(3)-5m?vV2-m3v6 _ 10mv3+6m?-5m?v2-m3V6
25-3m2 o 25-3m2




47) 2b-5vV2b _ 2b-5V2b (—1—\/5) —-2b-2b3V2+5vV2b-5b*V4b _
—~1+V2b*  —1+b%/2 \-1-12 1-2b* -
—2b-2b3V2+5V2b-2-5b>/b _ —2b-2b3\2+5V2b-10b%Vb

1-2b% 1-2b*
49) 2—V2x _ 2—2x (4x+5x\/3x) _ 8x+10xv3x—4xv2x-5xV6x?
4x—5v3x3 4x—5xv3x \4x+5xv3x 16x2+25x2(3x)

8x+10xv3x—4xV2x-5x%vV6 _ x(8+10vV3x—4v2x-5xvV6) _ 8+10vV3x—4vV2x-5xV6
16x%2+75x2 x(16x+75x) 16x+75x

—4p—VP _ —4p—P (—p+p\/5) _ 4% =4p>Vp+pVp-pVp? _ 4p>—4p’VpHpVp-p® _

~-p—p®  —p—pVP \-p+pVD p2-p2p p2-p3

3p?—4p*Vp+pVP _ p(B3p—4pVD+VP) _ 3p-4pVP+VD
p%-p3 p(r—p?) p-p?

51)




